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K (cm/sec) 4. 70E-02
D (m) 7.30
H (m) 10. 80
R (m) 234. 14
2 InZ 17.5487 | 16.5690 | 16.5578 | 16.9637 | 15.8760 | 15.9840 *
n (X) 6 6 6 6 6 6 *
1/n2 InZ 2.9248 2.7615 2. 7596 2.8273 2. 6460 2. 6640 *
DL (m) 11.90
ho (m) 5. 66 5.33 5.32 5.46 5.09 5.13 *
WL3 (GL-m) 6.24 6.57 6. 58 6. 44 6. 81 6.77 *
K (cm/sec) 4. 70E-02
D (m) 7.30
H (m) 10. 80
R (m) 234. 14
> InZ * * * * * * *
n(x) * * * * * * *
1/nY InZ * * * * * * *
DL (m) 11.90
ho (m) * * * * * * *
WL3 (GL-m) * * * * * * *
ho min 5.09 m
WL3 max GL- 6.81 m
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(2) T4—T2z)LiHEKEA aw ( m3/min)
aw=2x 7w X rw xLs x (K -+ 100) + 15 x 60
=2 x 7w x 0.30 x 269 x 4 (4.70E-02 + 100 ) + 15 x 60
= 0.440 m3/min
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Fs = gw = qo
0.440 + 0.438
1.00 = 1.00 —- HREHEHEERT S,
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qo: FMET s —Toz/LKE ( m3/min )
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T—1E/NLT ¢ 150mm 5 6.0
F v wvE/N)LT d 150mm 8 6.0
KEE10m3 = 20
FIKE d 250mm m 15.0
T v D334 k¢ 250mm & 90
TJ)U7h ¢ 250mm @& 2
F— ¢ 200mm/ ¢ 200mm @& 1
KPR T b 150mm X7 .5KW X200V = 6
KPR T  200mm X 1 5KW X200V = 2
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